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1.
(a). (#* +1)(2zy — 3) (b). 2z(z + 2)(z — 2) (c). (z+4)(z—1)

(d). 3z —4)(z —2) (e). (z* +6)? (f). 2z +1)(3z + 4)
2. (2r +1)(42® — 22 + 1)

3. (1+22?) ie. 3xY/? 46252 = 3012(1 + 22?)
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9.2 = % ~ 48.833 = 49 packages.

10. p = 6811.3636 pounds per square inch.
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11. N
(a). f(3) =5 (b). f (4) S (c). f(2.3) = 2.9 (d). f(z+h) — f(z) = 3h

12.

(a). f(0)=5 (b). f(~2)=-3 (c). f(z—1)=—222+4dz+3 (d). f(z)— f(1) = —22% +2

13.

(a). No, it is not a function because it fails the Vertical Line Test (b). Yes, for each x there is only one y-value.

14.
(a). domain: z > —9; range: y > 0 (b). domain: All real; range: y > 3 (c). domain: All real except x # —g
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17.

(a). 72+ 48z

(b). $96

(c). @ =1.725 hours



